Unit 5 Tes+ Study Guide oKO(j R

[ a) heat - flow of erurgy dus 4o o differency in tamperature,
) temperature - rruasu.;je of fhu auirage,ammﬁc Lnerqy of
+Hhu molocolss in O SUbsTancy
Cg exothermic - heot IS rebaseol Q. i5 hegative
d) endothormic - huot is absorbeo!, q. is positive,
e) enthalpy. = nuasuremunt of + amount of heodt URLrgly
absorhed or releoseol by o Chumicad reaation
9) Bhoyie's (O~ +Hhe | ore ssyre of a Qa3 (S f'nu,ara,e/zj,' .
p’roporﬂonaﬂ to its volume,
9) Charls's Low - v volunmu of o 9as 13 direo_ﬂy proportionat
fo its temperature in Kelvin | | |
h) Auoqgadro's Law - th volume of a gas Is diwectly
proporﬁonaﬂ to the numbitc of molss of gas

2.0) Pybio s\ v B+ 30a0Q) | sH = 0.1 KT
+ Pae\ + 2802 > Pu0ig¢s) T AHa="2940.0f
(P40 ¢s) + &0acg) > FuOi0Cs) SH = TI300.0K¥
i . _ ‘ S SO A or
h)  LeoQ) > e+ Oy AH = +53F KT
T Alser+ 0pe@) + 4Hyq) > & CH30Heg) taHa=q0a.d kT
3¢0q) + 4Harg) > & (H30H(Q) _aH =134 6kT
s | 0@+ dHag) > CHs0Hq) | s LHKT ]
\0-\9' ' 1 1 ' i I I [ ' i f 1 i '
! |
,\%) IHigy +AWag —~4&HF 2(sHi= ~53F kT
ol s Hd8Fa @) > 20F4(9) 4+ A(dHa = (80 KT)
" CaHq@Q) = sy + QHg@) " pHz= - 53 3K

| CaHucq) + LFacq) > ACFycq + dHFq) ’AHro{ = R4 JOKT |

ruiply e

by d |
d)\" ANz@Q) + 262Q) > 4LNO@) A (6Hi= 180F KT)
ANOa (@) = aNO@ + ) 8.Ha= [ FI31 KT
o AN0 Q) > ANa@) + Qa€g) t sis= ~l3.3k]
ﬁ_Maﬁ_(QY_tO_?MQaJQ)—v—Z LN cg) A H =1 3111 3l

[ M0 + 002 > NO) oHrar= 155,747



= [0 =mCAaT &
r% = 30-09 * | &
C ~ 4.289K (.= (30.08)(d. 233K Y235
AT ~_45.0°C P T e 0 N D
10.0°C 0T 51148.87 =] 511003 [engothermiC
15.01C+ 343 ; ‘ SRR NN A B
~ 288K
h) 1g=1? Q=mCAT]
M = 45.09
Cl=l3g5d/°0 Q.= (45.09)(. 38574 % )(~15.0% )
AT = 15.0°C |
130:07% G ~259.8%57 = 0. T Jdxothermie
_15.00 ¥ i i ‘ ; ; i
¢) q,*— = 1500, T AT= gL
= 99.889 (m-C)
Q = 1.03094g°C -
al=1? AT= | “1500. %
(99885 - 1.030%g°C)
s 1= - 1H.33D5500 | *C | = [~ 1473 |
Fa) V= 5000 Charbs'sltaw 2| Vi Ta = Va T
1=234.0°C +3313= 43 K
Vel=17
Ta = "8%3°C.+3¥3= 1K
(5.00L)C1K) = Vz (@G7K)
89FK RAFK
0“08350’?L Va
[TV,
b.Vo= bsamL Quogadm's tow : Ving =Van,
Ny = &l mol
Va= 7

Na = .33FH5ml

~Ladmel | |

1148.533364 L. = Vg

Tiol =V, 1



¢. P+ 1L.00adm Fjo%u's tow: PV, = faVa
Y, < 33.0L
Pa - .53 atm (1.00atm)(33.0L) = Chp3atm) Vg
Vo =|? 5lod cchm —Fhaatm

HECGEATNTES
587L \/(g

DL Vi 1000 mL @Qjogadms Law : V:na = Vo
Ny = F43mod _
Vo = Laool [1000mL - 1800.mL
na al 2 \\L.

(1900. mL) Na. = UA00.mLY . F7Emol)

Q06-mL._ 1900. mL

Ng = .490736g4amol

| ‘ﬂ’a:_': .4q[mol
E P =.3d50 am Goyl'staw : P = RYe
Vi~ 1334 mL |
CARE (.3450Latm) (1834 m) = Pa @345me)
Va = a345mL 4345 L. I35 mL
| .nslxto’ﬁmw ’Pa
IE’IQa}m (P@ ‘f—;.
F. V.= 3.00L dharus's law: ViTa =Va T
T~ 25.00°C + 333 = 899 K
Va = dx3.00L=6.00L
o l< | ?

(3:00) T3 = (1,.00%)(298K)
3000 3.00N

| o, = 59U K [



P = 1307 Po  ldeal Goslaw : PV =nKkT
9 V = as.o0t @
N = 16.39 Na
jé = {08304 L &t
|
|
2707
(1.350ak) (85, 00) = <WM’”)
(582 mal)(. 08306 H27-] (582
@543&80&93 K| = _T |
Loqum* “é
h. /\l? 4au+orr ldml &os aw: PV-= nﬂ\T

n I 100, 09 Kr
R = o800 588

T~ -99.66tC +d33 = 133 K

o

C955atm) V. =(1.193me!)(.08800 S5 X 173K
- ¥55¢dm P55 adrn

V. = 179343300 L.
q Yi=| 1734\

-\I“




